Grade -V



Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

Q.11

Q.12

“Eight thousand fifty” in figures can be written as

a) 8000 b) 8080 c) 8008
The number just after 7009 is?

a) 7008 b) 7500 c) 7090

The greatest number formed by the digits 3,0,8,5 is

d)

d)

a) 8530 b) 8030 <) 5380

d)

Choose the correct expanded form for the number 4658 is

a) 4000 + 600+ 50 + 8 b)

c) 4000+ 60 +5 + 8 d)
Nine lessthan 3040 .

a) 3000 b) 3030 c) 3031
The smallest 4-digit number is

a) 11 b) 1111 c) 1011
Which one is correct?

a) 9758 < 8579 b)

c) 7598 > 7958 d)
Choose the correct ascending order.

a) 2015, 2058, 9358, 7042 b)

c) 1500, 6794, 8030, 9999 d)

8050

7010

3508

4000+ 500+ 60+ 8

4000 + 800

d)

d)

7598 < 7958

5978 = 8795

3041

1000

5492, 3813, 7600, 5290

7042, 3813, 7206, 5140

Choose the smallest 4-digit number using 0 and 5.The digits may be repeated.

a) 5000 b) 5005 c) 0005

Predecessor of 8000 is

a) 8001 b) 8010 c) 7999

The place value of 8 in 5480 is

a) 800 b) 8 c) 80

d)

d)

d)

In which number does the digit 8 have the smallest value?

a) 1580 b) 8350 <) 9358

d)

5050

8002

8000

7852
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Q.13 The greatest even number formed by the digits 9, 0, 2, 8 is .
a) 9820 b) 9028 c) 8209 d) 2098

Q.14 Successor of 3000 + 29 is

a) 3020 b) 3028 <) 3029 d) 3030

Q.15 300 less than 9825 is

a) 9325 b) 9925 c) 9725 d) 9525
Q.16 What is the next number in the given sequence of 1005, 1010, 1115, 1020, ?
a) 1003 b) 1015 c) 1025 d) 1050

Q.17 The successor of xix is

a) XXiX b) ix c) XXil d) XX
Q.18 Which is the correct Roman numeral for 39 is ?

a) XXX b) XXXiX c) XXXi d) Xix
Q.19 4thousand + greatest 2-digit number is ?

a) 4090 b) 4099 c) 4999 d) 9994

Q.20 A grocer sells 50 apples and 29 oranges. How many fruits does he sell in all?
a) 79 b) 69 c) 59 d) 21

Q.21 5375+ 3226 =

a) 8016 b) 8601 c) 8061 d) 1608
Q.22 When 1685 is added to 2313, the digit in the tens place of the answer is ?
a) 8 b) 3 c) 9 d) 6

Q.23 Reema had 385 marbles, her brother had 215 marbles. How many more marbles did Reema
have than his brother ?

a) 283 b) 285 c) 170 d 185

Q.24 |If zero is added to 3008 the answer will be

a) 3000 b) 3008 c) 0 d) 3080

Q.25 1200 people watched a movies on Monday and 1500 people watched it on Tuesday. How
many people watched the movies in two days?

a) 1200 b) 1600 c) 1800 d) 2700

(2 ] Grade Il - [V



Q.26 3490-1830is ?
a) 1402 b) 3420 c) 1660 d) 1903
Q.27 Whatis 2 % of 200?
a) 4 b) 2 c) 6 d) 8
Q.28 A school covers six hundred seventy-nine square meters of land. Identify its number form.
a) 670 m? b) 697 m? c) 79 m? d) 679 m?
Q.29 If zero is multiplied by 6052, the product willbe ____.
a) 6052 b) 0 c) 1 d) none of these

Q.30 Simplify 2(420 + 350 — 70) and choose the correct answer.

a) 701 b) 770 ) 1400 d) 107
Q.31 Fill in the missing number (7500 - = 6400).
a) 7000 b) 1100 ) 7050 d) 1000

Q.32 If 419 are subtracted from 4000, the difference will be

a) 3900 b) 4019 c) 3581 d) 3090

Q.33 Mr. Raj has Rs.9200 in the bank. He withdraws Rs.4500. How much money is left in the
bank?
a) 9000 b) 4000 c) 3200 d) 4700

Q.34 16 can be rounded off to the nearest 10 as:
a) 10 b) 15 c) 20 d) 16

Q.35 The numbers of sides of a quadrilateral are

a) even b) odd c) botha &b d) none of these
Q.36 3246is less than 1886.
a) 1350 b) 1360 c) 1370 d) 1380

Q.37 There are 6 eggs in a basket. How many eggs are in 7 baskets.
a) 21 b) 28 c) 42 d) 35
Q.38 Ondividing284 by 4, weget .
a) 58 b) 79 c) 70 d) 71
Q.39 The sum of two numbers is 2100. If one of the number is 100. Find the other number?

a) 0 b) 2000 <) 200 d) 100
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Q.40 Subtract the smallest 4-digit number from the greatest 4-digit number?
a) 9999 b) 100 c) 8999 d) 9000

Q.41 The multiplication formfor4 +4 +4 is

a) 12+ 4 b) 5x4 c) 3 x4 d) 2 x4
Q.42 5x8tensequalsto___.

a) 400 b) 40 c) 4000 d) 4
Q.43 The product of (3x6) x 100is ____.

a) 180 b) 1800 c) 18 d) 18000

Q.44 Which one of the following shows the product 117?

a) 11 x 8 b) 14 x 9 c) 12 x 4 d) 13 x 9
Q.45 The first three multiples of 7 is ?
a) 5,10, 15 b) 7,14, 21 c) 9,19, 29 d) 7,14, 28

Q.46 There are 2 people riding on each bike. How many people are there on 8 bikes?
a) 8 b) 24 c) 32 d) 16

Q.47 How many oranges are there in a dozen?

a) 16 b) 10 c) 6 d) 12
Q.48 125+ =125?
a) 0 b) 1 c) 10 d) none of these

Q.49 The total number of days in 9 weeks are

a) 72 b) 63 c) 365 d) 12
Q.50 One third of largest two digit number is

a) 33 b) 90 c) 330 d) 300

Q.51 A boy has drawn a ball from a bag containing balls numbered from 1 to 100. It is found to be
19 more than the least two digit number. What is the number?

a) 10 b) 19 <) 29 d 99

Q.52 Four students Rayyan, Arshman, Yashfa and Aiza wrote a three digit number in their
notebooks as shown below:

[Rayyan; 498] [Arshman; 654] [Yashfa; 861] [Aiza; 723]
Who wrote the least number?

a) Rayyan b) Arshman c) Yashfa d) Aiza
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Q.53 The number shows on the spike abacus is

a) 6846 b) 4686 gg

c) 6486 d) 4866 TH H T [o)

Q.54 The number having 3 in hundreds place 5 in the ones place and 2 in the tens place is

a) 352 b) 532 <) 253 d 325

Q.55 How many beads should be removed from the hundred’s place in the abacus shown below,
if it has to represent a number between 500 and 600?

Q.56 The least number among the following is

a) 462 b) 426 c) 264 d) 246
Q.57 Which of the following statement is correct?

a) 321<235 b) 420> 510 c) 725 <638 d) 827 > 639
Q.58 Pick the wrong statement.

a) 2x13=36 b) 6x6=36 c) 4x9=36 d) 12x3=36
Q.59 Write 5 x 6 as a repeated sum.

a) 5x6=5+6 b) 5x6=5+5+5+5+5

c) 5x6=6+6+6+6+6 d) 5x6=6+6+6+6
Q.60 The number to be multiplied is calledthe

a) Multiplicand b) Multiplier

c) Product d) None of these

Q.61 Choose the correct option for 728 x 5 =

a) 3640 b) 1240 c) 6245 d) none of these
Q62 4+4+4+4+4+4+4=28.There are 7 groups of number 4. Which is the correct way to

write this?

a) 28 +4 b) 7+4 c) 4x8 d) 4x7
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Q.63

Q.64

Q.65

Q.66

Q.67

Q.68

Q.69

Q.70

Q.71

Which pair has same answer?

a) 3-3, 16 -2 b) 10-2, 12-2

c) 18-3, 27-3 d) 4-2,6-4

If 6 x8 =48 then 48 + 8 = ?

a) 5 b) 4 c) 6 d) 8
The product of two numbers is 7680. If one number is 24. Find the other one?
a) 340 b) 360 c) 330 d) 320
78 is divisible by __.

a) 4 b) 5 c) 6 d) 9

Which operation should be used to solve the given problem?

“Ms. Asia has 18 students in her class. She splits them into 6 equal groups. How many
students does she have per group?”

a) addition b) subtraction

c) multiplication d) division

A denominator is

a) the top number in a fraction b) the bottom number in a fraction

c) a fraction d) all of these

Count the flowers.

L
L
L
L
L
L
L
L

In how many groups of 3 can the flowers be divided?

a) 3 b) 8 c)

D

d 21

There are 60 apples packed equally into 5 crates. Which number sentence shows how to
find the number of apples in each crate?

a) 60-5 b) 60 + 5 c) 60 x 5 d) 60 + 5
Find the missing number from the following:
597 =500 + __ x 10 + 7.

a) 7 b) 8 c) 90 d) 9
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Q.72 In numbers from 1 to 100 the digit [0] appears times.

a) 9 b) 10 c) 11 d) 12
Q.73 In 1938 which digit has highest place value?
a) 8 b) 1 c) 9 d) 3
Q.74 Look at the numbers.
51, 12, 30, 49, 46, 94
Which of the following is true about the given numbers?
a) they are all greater than 50 b) they are all less than 90
c) they are all less than 95 d) none of these
Q.75 Look at the number line below. What number replaces in the following?

, " )

2 6 ) 1418 22 |30 34

a) 7, 11 b) 10, 26
c) 20, 24 d) 26 , 30
Q.76 There is no symbol to represent in Roman numerals.
a) zero b) one c) two d) three

Q.77 The number 10 in Roman numerals is written as

a) X b) L c) XL d) XIV
Q.78 Wecanwrite0,1,2,3,4,5,6, 7, 8,9 as numerals and they are also
called numerals.
a) words b) figure c) Arabic d) Latin
Q.79 The numbers that cannot be grouped into pairs are called numbers.
a) odd b) composite c) prime d) even

Q.80 What comes after 9999

a) 100 b) 1000 <) 10 d) 10,000

Q.81 The smallest 5-digit number is

a) 10,000 b) 1000 c) 100 d) 10
Q.82 How many hundreds are there in a ten thousand?

a) 100 b) 10,000 c) 1000 d 10
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Q.83

Q.84

Q.85

Q.86

Q.87

Q.88

Q.89

Q.90

Q.91

If the sum of first five prime numbers is an even number what is the smallest of the five?
a) 2 b) 3 c) 5 d) 7

Which one is the correct form of “67,381” in words?

a) sixty seven hundred, three hundred and eighty one

b) sixty seven thousand, three hundred and eighty one

c) sixty seven tens, three hundred and eighty one

d) none of these

Arranging numbers in order from the greatest to the smallest is called _ order.
a) ascending b) descending

c) numerals d) none of these

means making a number easier to work with but keeping its estimated value
close to the original.

a) comparing b) ordering
c) rounding off d) place value

The result of subtraction is called the

a) sum b) difference

c) guotient d) product
Which of these is equal to 5438?

a) 6693 - 1255 b) 6893 - 1457
c) 6093 - 1275 d) 6993 - 1955

We subtract digits from

a) left to right b) top to right

c) bottom to left d) right to left

Divide 52 candies between 2 children. How many candies will each child get?
a) 24 b) 25 0) 26 d) 27
Which shape is shown half shaded?

O
D

a)

c)
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Q.92 Which fraction is odd one out?

1
2

a) % b)

Wl

<) g d)

4
3

Q.93 What fraction of the vegetables shown are carrots?

a = b) = o 2 d :
Q.94 In the fraction, the number at the top is the

a) fraction b) numerator

c) denominator d) none of these
Q.95 is an improper fraction.

a - b) 2 o d :
Q.96 Fractions with different denominator are called fractions.

a) like b) mixed c) unlike d) equivalent
Q.97 There are meters in 1 kilometer?

a) 2000 b) 1000 c) 3000 d) 4000
Q.98 The abbreviation used for Kilogram is

a) mg b) gk c) g d) kg

Q.99 Which item has the capacity of about 10 liters?

c) ! ‘ d)
Q.100 The weight of a 50 rupee note is about 1mg. How many notes will be there in a pile of 50
rupee note that weight 1 gram?

a) 1000 notes b) 500 notes

c) 100 notes d) 200 notes
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Q.101 Nayyab begins jogging at 7:20 am. She jogs for 40 minutes. By what time will Nayyab
finish her jogging?

a) 7:50 am b) 8:00 am
c) 7:45 am d) 7:35am
Q.102 There are milliliters in 1 liter.
a) 1000 b) 500 c) 50 d) 100

Q.103 A suitable unit to measure the distance from one city to another city is

a) kg b) km c) m d) cm

Q.104 We write “am” with the time between
a) 12 noon to 12 midnight b) 12 midnight to before 12 noon
c) 1 midnight to 2 noon d) 11 midnight to 11 noon

Q.105 The abbreviation “pm” stands for

a) post master b) post marine
c) post meridiem d) none of these

Q.106 On a digital clock the first two numbers from left tell us the

a) minutes b) hours
c) seconds d) none of these
Q.107 A __is aline having a beginning point but no end point.
a) line b) segment c) ray d) length

Q.108 Ali starts his journey at 4pm and takes 2 hours and 30 minutes to reach at his destination.
At what time Ali will reach at his destination?

a) 6:30 pm b) 6:40 pm c) 6:50 pm d) 6:45 pm

Q.109 2 % of 300 =

a) 3 b) 6 c) 9 d) none of these
Q.110 The symbol of is used for a tally mark.
a) / b) = c) A d) %

Q.111 In a tally chart H’H represents:
a) 1 b) 2 c) 3 d) 5

Q.112 Forty thousand three hundred and forty in figures is written as
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Q.113

Q.114

Q.115

Q.116

Q.117

Q.118

Q.119

Q.120

Q.121

Q.122

Q.123

a) 43,040 b) 4,340 c) 40,340 d) 43,004
The place value of 2 in 21750 is?

a) 2 thousand b) 2 hundred thousand
c) 20 thousand d) 2 hundred

3910 and 2100 add up to

a) 6010 b) 5910 c) 5020 d) 4120
Take away 1450 from 2500, the result is ?

a) 1950 b) 1050 c) 3000 d) 4000
25 x 120 is equal to

a) 2000 b) 3000 c) 20 d) 0
The product of 15 and 3 is

a) 40 b) 42 c) 44 d) 45
The quotient of 36 divide by 3 is ?

a) 6 b) 12 c) 18 d) 24

The number by which we divide another number is called the

a) dividend

c) divisor

. . 2.
An equivalent fraction of S is

2

a) ﬁ
4
C) a
4 3 .
— and — are fractions.
9 10
a) unlike b) like

The word fraction comes from the

a) Greek b) Latin

The difference of g and % is:

a) % b)

b) quotient
d) none of these
3
b) ”
d) none of these
c) equal d) equivalent

word “fractio”, which means “to break”.

c) Urdu d) Persian

15

d) 18
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Q.124 The number 590 is than the number 578.

a) greater b) smaller

c) equal d) smaller than and equal to
Q.125 The number “534” rounded off to nearest 100 is?

a) 530 b) 500 c) 550 d) 600

Q.126 A 2D shape whose all sides and angles are same is called

a) Regular polygon b) Open shape
c) Irregular polygon d) none of these

Q.127 The amount of space that a shape covers is called its

a) Area b) Perimeter
c) Volume d) Mass

Q.128 The weight of a container is 3kg. How much will it be in grams?

a) 300g b) 3000g c) 30,000g d) 30g
Q129 “8kg 800g” is equal to grams.
a) 1000 b) 88000 c) 8000 d) 8800

Q.130 Which is bigger unit?

a) gram b) kilogram

c) milligram d) none of these
Q.131 13is number.

a) Prime b) Composite

c) Neither prime not composite d) all of them

Q.132 3kg 109 mg + 4 kg,2 mg =

a) 2kg 129 mg b) S5kg 109 mg

c) 3kg 190 mg d) 7kg 111 mg
Q.133 A line segment has end points.

a) one b) infinite c) two d) three points
Q.134 The given figure is Z TB.

a) Line b) Line segment ¢) Point d) Ray
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